swalshs siquy

AWM

B SHPE

AR AWM1-S1 AWM1-S2 AWM1-S3
RS E B BB BB HEk
¥4, %E@ 100°C N 42 8.4 12.6
E{E N 16.9 337 50.6
BHSE N/Sqrt(W) 213 3.02 3.70
T2, %E@ 100°C W 39 738 11.7
B T w 62.4 124.8 1873
B A mm 21 21 21
BABLHE \Y 60 60 60
Re%&BERE °C 125 125 125
PUERUE We 0.05 0.10 0.16
PR R Arms 17 1.7 1.7
IE{E R Arms 6.8 6.8 6.8
NER N/Arms 248 4.96 744
REFHBFH Vpeak/(m/s) 2.02 4.05 6.07
B8 Rk mH 022 0.44 0.66
i E BE @25°C ohms 1.35 270 405
B S8 F & ms 0.16 0.16 0.16
WS
ZER=E g 21.3 42.2 63.2
LBEKE mm 43.0 85.0 127.0
WHRE (863EX) g 188.1
LAEIw] N 0

TERSHAR HEERE FAEEAN REHIRH KEEN
( RGATI ) BHFER FHEE S
ZERKERN
TERSEEL BN

@ AC-ZSAH, WCKkibH; B MR ETREELE FH—hEKE, 2EHE, BEH12EXMEE,
107 /108




swialshs sIqLY

AV

l R5R~T I TR

E - Mounting Holes, @ 2.7 thru 0))) g&@

\  Coil Length
21.0

Combining Track

- % $ — K
Wwﬂh I 0.6 0.1 H
Alr - —

Gap

6.0

|
1
25.4
39.0

J—

QOO | QOGO

Pitch 11.0 ———
’<—>'<—>7 [

R4TKE (m)

0.5

e EER

K = PT100 (RTD)

R~

S1,82,8S8

21.0 222
420 Pitch L 20.85 S
Track Length AWM
G - Mounting Holes, @ 3.5 thru
C'bore @ 6.0 Dep 4.76 Both sides e e g
P ERERR
S =8Bk, P = JE
H - Mounting Holes, M3x0.5 Dep 6.0
21.0
21.0 Pitch 13.85

11.1

R R Sk

S
AWMA1

AWM1-TL63

AR E

TL63/ TL84/ TL105

B E BB
T ZEKE E TREVRD B G H
AWM1-S1 43.0 2 AWM1-TL63 62.7 2 3
AWM1-S2 85.0 4 AWM1-TL84 837 3 4
AWM1-S3 127.0 6 AWM1-TL105 104.7 4 5

Q HBERERTSIRERILE

109/110



swialsAs sIqLY

AVWNIZ

g AWM2-S1 AWM2-S2 AWM2-S3 AWM2-S4
MRS B4 203 EREK Eidi 3 EREk FFE 213 FFER
8, %R @100°C N 11.8 236 35.3 471
1B F N 58.9 117.8 176.7 2355
BALEE N/Sqrt(W) 3.62 512 6.27 7.24
FrEh R w 10.6 211 317 423
AR w 2643 528.6 793.0 1057.3
BB mm 30 30 30 30
BRRBLHBEE \% 330 330 330 330
BRe%BERE °C 125 125 125 125
PR w/°C 0.14 0.28 0.42 0.56
FFEEER R Arms 16 16 3.2 16 32 16 3.2
BB Arms 8.0 8.0 16.0 8.0 16.0 8.0 16.0
NEE N/Arms 7.36 14.72 7.36 22.08 11.04 29.44 14.72
REHMBEL Vpeak/(m/s) 6.01 12.02 6.01 18.03 9.02 24.04 12.02
R mH 015 0.30 0.15 045 0.23 0.60 0.30
#in B E @25°C ohms 413 8.26 413 12.39 6.20 16.52 8.26
B8 7R A (8] 4K ms 0.04 0.04 0.04 0.04 0.04 0.04 0.04
WS
LERE g 64.6 128.5 192.4 256.3
EKE mm 61.0 121.0 181.0 2410
WRE (8120%X) g 585
Al N 0

Hl %=7R~
E - Mounting Holes, @ 3.2 thru
— Coil Length —
30.0
Pitch 15.5 5.7
O.Y ‘ — o
Combining Track [ = S
0.3 Clearance N 4%_ 44)_ —— 07401 °°
e .7 £0.1
Alr —I I_ 1
g
QOO | 60 0060 060 !
60.
40.0 Pitch 29.85 D
I Track Length
G - Mounting Holes, M4x0.7 thru
C'bore @ 6.0 Dep 4.76 Both sides
H - Mounting Holes, M5x0.8 Dep 7.0
60.0
60.0 / Pitch 29.85
: ’ : .
& & & o |
B A2 BB ALBEEN
HRE R LEKE E 1R A YR HD BKE G H
AWM2-S1 61.0 2 AWM2-TL120 119.7 2 2
AWM2-S2 121.0 4 AWM2-TL180 179.7 3 3
AWM2-S3 181.0 6 AWM2-TL240 239.7 4 4
AWM2-S4 241.0 8 AWM2-TL300 299.7 5 5

57.0

1117112



Swa1sAs sIqLY

Bl T

BS
AWM2

EREAEE
S = #E, P = HE

AR RES
K = PT100 (RTD)

R~t

S1,82, S8, S4

e

e
AWM1

AWM2-TL120

MK E
TL120/ TL180/ TL240/TL300

Q HBEANERFSIHEBHEE

B SHAE

AVWNGE

% AWM3-S1 AWM3-S2 AWM3-S3
MRS L Rivs 23 HREX FFER HREK FFE
¥4, % @100°C N 36.5 73.0 109.5
18 5 N 1865 373.0 559.4
BHLEE N/Sqrt(W) 755 10.68 13.08
R W 233 46.7 700
IE{E TR W 609.7 12194 1829.1
BREH mm 60 60 60
RABLHBE Vv 330 330 330
e %&BRE °C 125 125 125
PFERRE Wy/°C 031 0.62 0.93
SRR Arms 18 18 36 18 36
IR Arms 92 9.2 184 92 184
NEE N/Arms 20.27 40.54 20.27 60.81 30.40
REMBEEH Vpeak/(m/s) 16.55 33.10 16.55 4965 24.83
B Rk mH 313 6.26 313 9.39 470
#im s E @25°C ohms 7.20 14.41 7.20 21.61 10.81
B 2R A (8] 4K ms 043 043 043 043 043
WS
LERE g 238.9 476.7 7145
LEKE mm 121.0 241.0 361.0
WEHRE (81202X) g 1071.4
[ E Wl N 0

113/114



= & o

I R~F B TR

swialshs sIqLY

N\ 4 o -~ N
o L 1 o] I
Combining Track I ﬁ} %} ﬁ} E ogo
0.5 Clea —
0.9 0.1 T [ 1
K (m)
2 0.5
L s | s AL SR
L rack Length ] AWM3 K =PT100 (RTD)
G i
o D75 0ep 8 Bon e H - Mounting Holes, M5x0.8 Dep 8.0
'// o0 2225 ! s 3
60.0 Y ~ Pitch 2225 i ﬁ_&;‘éﬁ! RTJ-
- S S=HE, P =B S1,52,53
w o = = 4
—
s WK E
AWM3 TL180/ TL240/ TL300/TL600
B 41 2% B AR

TR GRAD LEKE E TEEIRED K E G H

AWM3-S1 121.0 3 AWMS3-TL180 179.5 3 3

AWM3-S2 2410 6 AWM3-TL240 2395 4 4

AWM3-S3 361.0 9 AWM3-TL300 2995 5 5

AWM3-TL600 599.5 10 10

Q@ HEREHEFSIESHEINLE
115/ 116



%

u

= &

SWaIsAs sigqLyY

AWM4

ZIIR~F

Combining Track
0.5 Clearance

E - Mounting Holes, @ 4.3 thru
\___CoiLength

N

= 400
Pitch

= % =+ B

P& AWM4-S1 AWM4-S2 AWM4-S3
RS H B EREX BB FFEX BB FFEX
#40, %E @100°C N 63.8 1275 1913
[=2-W)] N 3604 7208 1081.1
BAEE N/Sqrt(W) 11.70 16.55 20.27
FEEETIR w 29.7 59.4 89.0
IEEYIR w 9481 1896.2 2844.3
BREH mm 60 60 60
RABLHBE \% 330 330 330
REZEEE 1 125 125 125
HEEMEER w/eC 0.40 0.79 1.19
PR IR Arms 2.3 23 46 23 46
IE{E R Arms 13.0 13.0 26.0 13.0 26.0
NEE N/Arms 27.72 55.44 2772 83.16 4158
RENBEEH Vpeak/(m/s) 22.63 4527 22.63 67.90 33.95
B mH 3.50 7.00 350 1050 5.25
258 B @25°C ohms " 561 11.22 5.61 16.83 8.42
B BRI ) A ms 0.62 0.62 0.62 0.62 0.62
S
LERE g 3389 676.2 1013.5
LEKE mm 121.0 241.0 361.0
BHRE (81202X) 9 1801.3
U Elb! N 0

762

= -
1101
Air
Gap Al
©©® 0O ©® 0o
400 i J
L 600 . R L Pitch 2975 | 39.0
G - Mounting Holes, Méx1.0 thru
Clbore @ 9.0 Dep 6.35 Both sides /
H - Mounting Holes, Méx1.0 Dep 12.0
/ 600
~ 0.0 _ / ~ Pitch 2975
BHLRE BB
RERTD ZEKE E AR BHIKE G H
AWM4-S1 121.0 3 AWM4-TL180 179.5 3 3
AWM4-S2 241.0 6 AWM4-TL240 239.5 4 4
AWM4-S3 361.0 9 AWM4-TL300 299.5 5 5
AWM4-TL600 599.5 10 10

98.0

117/ 118



Swia1sAs sIqLY

Bl T

g
AWM4

EREAEE
S = #E, P =B

AR RES
K = PT100 (RTD)

e

S
AWM4

R~F

S1,82,S8

AWM4-TL600

Q HBEAERFSIHEBHEE

MK E
TL180 /TL240/ TL300/TL60O

Bl SHA%

AVWNMO

Wik AWMS-S1 AWMS5-S2 AWMS5-S3
TERES K B BB BB FFEE HEX FFEE
FEh, %E @100°C N 111.8 2235 3353
1B N 804.8 16095 24143
BAEE N/Sqrt(W) 19.41 27.46 33.63
FERIE w 331 66.3 99.4
I {EThR w 17183 3436.6 5154.8
BSUAH mm 84 84 84
BRABLHE v 330 330 330
Be&BEIRE °C 125 125 125
AR w/eC 0.44 0.88 133
RHERER Arms 25 25 5.0 25 5.0
(BB R Arms 180 18.0 36.0 18.0 36.0
NEH N/Arms 4471 89.42 4471 13413 67.06
REBHBELH Vpeak/(m/s) 36.51 73.01 36,51 109.52 54.76
B mH 11.14 2228 11.14 3342 16.71
ZirB M @25°C ohms " 530 10.61 5.30 1591 7.96
B AR AT 1) WA ms 2.10 2.10 2.10 210 210
PS5
ZERE g 883.0 1763.0 2643.1
LEKE mm 169.0 337.0 505.0
WHRE (B120%X) g 4289.8
i Elba) N 0

119/120




= & & m

SwalsAs sIqLY

AVWNIO e AVWNIO

Hl 3R~

E - Mounting Holes, @ 5.3 thru
ﬁ oil Length -
F \\ o Pﬁf'? 285 i — . 106 0))) g&@
= s L
iy - ift o % o B ‘ AWM5-P-S1-K-0.5
1.0 £0.1 1] 1]
Air
Gap .
g & RKE (m)
0.5
(©) ) © © ERORC) ' w2 AL RS
L 84.0 J N l_ Pitch _L 4175 | L 50.0 N AWM5 K = PT100 (RTD)
G- M:un?ing Holes, Méx1.0 thru ' -
C'bore @ 9.0 Dep 9.0 Both sides
H - Mounting Holes, Méx1.0 De;AIWOS.O ﬁ*%%g{—! RT"—
- 84.0 — - Pitch —— 4175 - S=HEE P =B S1,82,S3
° s ® | |
| —c—
A= MK E
AWM5 TL252/ TL420/ TL585
A% BB LR
R gD HEKE E R G B G H
AWMb5-S1 169.0 3 AWMb5-TL252 2515 3 3
AWMb5-S2 337.0 6 AWMb5-TL420 419.5 5 5
AWMb5-S3 505.0 9 AWMb5-TL588 587.5 7 7
@ HEREHTFSIHESHNLE 121/ 122



